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WEST BENGAL STATE UNIVERSITY
B.A. Honours 4th Semester Supplementary Examination, 2021

PHIACOR10T-PHILOSOPHY (CC10)

INDIAN LOGIC
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. gNfe T %57 TG Q’Wﬁﬁﬁ‘/ P!
Candidates should answer in their own words AT e ©IRNF I TG AN T
and adhere to the word limit as practicable. e FRE |

All symbols are of usual significance.

Answer any three questions from the following 16x3 =48
Faferiie Q- foafs emie Tea e
1. (a) Explain the definition of Buddhi as given in Tarkasamgraha. 8+5+3
TIFIRAICZ 2V Jferd FFFEIT I AN

(b) Why and how is the definition changed in Dipika?
AfPrRICS orrelfld el @k @ e a1 R 9
(c) Is the change satisfactory?

A [ AeEeE 9

2. (a) Analyse the definition of Prama as given in Tarkasamgraha . 6+5+5
O ECR 2WE el FTEFAs Reae Tl
(b) What objection is raised against the definition in Dipika?
Ao @ wce e 6 wieife Tuifere 2 ¢
(¢) How does Annambhatta remove the objection?
oSS PR wieifel 13 S0 ¢

3. (a) What is sannikarsa? 4+12
RIESEAT
(b) According to Annambhatta, explain in detail the nature of the ‘six laukika
sannikarsas’.

TERSGF SIPRE FE R AT @Tfee AnetafiE [ [egd wie)

4. (a) How does Annambhatta define anumiti in Tarkasarmgraha? 6+10
THIRACZ TRCG Sffed el Feia amie Faces ¢
(b) How does he revise this definition in Dipika?
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Rt @2 srrals fof el siftafee ez ¢

5. (a) Explain the definition of Vyapti as given in Tarkasamgraha. 6+10

SRR 2 i w1 Tl
(b) How can Vyapti be established? Discuss after Annarmbhatta.

TERSG(F SRl P iR et 7, Stenbel w1

6. (a) State the definition of Karana as mentioned in Tarkasamgraha. 4+12
SIRER THRS Pl o7 wie |
(b) Explain the different kinds of Karanas with suitable examples.
fRfen e Fiadefr Sriggeg 10 6|

7. Explain with example Asiddha and Badhita hetvabhasha. 12+4
Triggeig ST @ 1S 2gre i Fe |

8. Point out the Paksa, Sadhya and Hetu in each of the following cases of inferences 4x4 =16
and explain why the hetu is defective: (any four)

e @-iet orafe weffen o7, 7w @ g ot e @k @gfb @ 12 o i
BIGIE

(a) An apple is sweet because it has appleness in it.
wCefe 5B, (@9 St S7kTg SR |

(b) The jar has colour, because it is substance.
9504 7 SR, P O 7 |

(c) The hill has smoke because it has fire.
S LR @R G 3% SR

(d) Sound is eternal because it is an effect.
i ey @ty o T

(e) All things are momentary because they are existent.
TRy T {el, el iRl ST |

(f) Atman is destructible because it is a substance.
LI IRECIIEaGE RS e

[For overall impression-2 marks)
[FTfare SorgiomiE oy ) THA]

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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